
Seed vertex in high pileup pp

1

0 0.5 1 1.5 2 2.5
z GEN VTX (cm)D

0

0.5

1

1.5

2

2.5

3

N
 S

EE
D

 V
TX

0 0.5 1 1.5 2 2.5
z GEN VTX (cm)D

0

0.5

1

1.5

2

2.5

z 
SE

ED
 V

TX
 (c

m
)

D

0
20
40
60
80
100
120
140
160
180
200
220

0 0.5 1 1.5 2 2.5
z GEN VTX (cm)D

0

0.5

1

1.5

2

2.5

3

N
 R

EC
O

 V
TX

0 0.5 1 1.5 2 2.5
z GEN VTX (cm)D

0

0.5

1

1.5

2

2.5

z 
R

EC
O

 V
TX

 (c
m

)
D

0
20
40
60
80
100
120
140
160
180
200

• Two generated vertices per events (10 pions per vertex)
– One vertex at z=0 cm and another vertex in |z|<2.5 cm



Seed vertex in high pileup pp
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• If two vertices are close enough, tracks from the second vertex are 
reconstructed during the loop of first seed vertex

• Quality check on track seed is on going 
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